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POLITICAL SCIENCE

Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. What constitutes the mean in
Aristotle’s social structure ?

(A) Wealthy class
(B) Poor citizen
(C) Middle class
(D) Artisan class

2. Whom did Machiavelli blame for the
moral degradation of Italy ?

(A) The Prince

(B) The Church

(C) The Aristocracy
(D) Corrupt People

3. For Hegel which one of the following
is correct ?

(A) Family is the thesis, Bourgeois
society is the anti-thesis and the
State represents synthesis.

(B) The rational is real and the real
is rational.

(C) Contradictions are not
obstacles preventing us
reaching truth.

(D) All of the above

4. Who among the following criticised
Bentham’s Philosophy as “Pig
Philosophy” ?

(A) Leslie Stephen (B) Karl Marx
(C) Carlyle (D) J.S. Mill

5.  Which of the following is correct so
far as John Rawls’ writings are

concerned ?

(A) A theory of Justice
(B) Political Liberalism
(C) The Law of Peoples
(D) All of the above

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

Which one of the following Mao has
not said ?

(A) Political power grows out of
barrel of gun.

(B) Three years of hard work : ten
thousand years of happiness.

(C) Atom bombs are real tigers.

(D) A revolution is not a dinner
party.

Which one among the following

statements is true ?

(A) Behaviouralism is based on
Stimulus-Response paradigm.

(B) Post-behaviouralism consists of
seven tenets.

(C) Post-behaviouralism  wholly
negates behaviouralism.

(D) There are no differences
between behaviourism and
behaviouralism.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Karl Marx termed
early socialists as Utopian
socialists.

Reason (R) : They attacked the
capitalist system itself.

Codes :

(A) Both (A) and (R) are true and
(R) is the right explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.

(D) (A)is false but (R) is true.




HECICRCRIC]

geAaA — 11

AT WU H T (50) Tg-aEedd 9 & | I W9 Al (2) 3 € | qult IR ST ¥ |

3E] ERT WIS IS rel/ETe
T " B A S (7)
T2

(A) & E

(B) TRIT AN

(C) "= ad

(D) HRR =

Al & AT 3Ty & T Aferamaet 3
TRt 1 feam 2

(A) TSFAR

(B) ==

(C) eI o=

(D) W= e

et % oo freferfiaa & @ =i @1 w8
g9

(A) URER 9% €, IeI31 TS Aqas

T AR T TR T |

ST HfeRI eI ¢ 98 aredtae ¢ o
S AT & o6 HIRAD © |
Aoy WA H W H e
Exmdiacll

SR Tl |

frefatea & & fFea Sem & 39 @l
AT “TUT TRFeATIH” g T T & 2
(A) oA EHT (B) el AT
(C) wRemEe (D) S.uq. e
S el Bl Fiaar & Gay 7 FEfafaa
o B A E?

(A) & RrR oiw siteg

(B) difeiteahet feterierss

(C) f&at 3ifw diget

(D) ST |l

(B)

©
(D)

Latest Sarkari Jobs, Govt Exam Results,

6.

frfoiad 5 9 ®i9 91 o 7130 &1 6l
g9

(A)

qSTHITae SIfekT aigeh i Aot &
US|

FSR IR * dF a9 ; G &
TG ER Y |

370] S Ao IR |

SHifd Teh TTAIST A T2l & |

(B)

©)
(D)

fefeIfad & & i |1 o Tl 8 2

(A) ToRfamfcrsH SRR 3T TSR
TG T SN & |

(B) ure fefoerfersm & @ fagia
T

(C) U foRfamicrsH, foRigaiersy
T QUIAT GUST HLAT § |

(D) fRfoafey dur fwRfoRfoea =
HIE IR TET & |

T 3T geRTeT ST T §, T R ST

(A) TT T I HROT (R) FeT T E

AfTHUT (A) : FA AT A IR
TASENGA B oSl
FUTSTEET FeT € |

HRUT (R) : S YSTanst Sewn
1 & SATAT 1 |

T

(=N

(A)

(A) @1 (R) IHT W&l & @1 (R),
(A) T TEl LT & |

(A) T (R) T Wl €, W (R),
(A) T TET T e ¢ |
(A) T& &, = (R) TTord € |

(A) T &, W] (R) W&l & |

(B)

©
(D)

Vacancies and updates on one click



10.

11.

Identify the correct sequence of the
Plato’s four components of virtue :

(1)  Justice

(i1)) Courage

(iii) Temperance

(iv) Wisdom

Select the correct answer from the
codes given below :

(A) (), (i), (i), (iv)

B) (i), (iii), (iv), ()

(©) (@), (i), (iib), (i)

(D) (i), (i), (1), (iv)

Match List — I with List — II and
select the correct answer from the
codes given below the lists :

List -1 List — 11
a. Savarkar 1. Associated
with a secret
society “Lotus
and Daggers.”
b. M.N.Roy ii. Author of the
book A Plea for
Reconstruction
of Indian Polity
c. Aurobindo iii.Convicted in
Ghose the Kanpur

conspiracy case
d. Jayaprakash iv.Hinduize  all

Narayan politics and
militarize
Hinduism
Code :

a b c d
(A) iv il i ii

B) i i iv i
© i i i v
D) i i v iii

Notion of uneven development was a
response to the 19" century ideas of
(A) Capitalism

(B) Evolution and gradualism

(C) Positivism

(D) Anarchism

12.

13.

14.
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Match List — I with List — II and
select the correct answer from the
codes given below :

List—1 List — 11
(Dependency (Books)
Theorists)
a. Samir 1. Dependency
Amin and
Development
b. A.G.Frank ii. Accumulation
on a world
scale

c. F. Henrique iii. Capitalism and

cardoso under
development in
Latin America
d. Paul iv. Monopoly
Swezey Capital

a b c d
(A) iv i iii ii
(B) i iv ii i
<©) i i A 111
(D) ii il i v

Who among the
associated with
Approach ?

following s
Institutional

(A) James Bryce
(B) Merriam

(C) Arthur Bentley
(D) Lasswell

Who among the following challenged
the idea of political development as
an unilinear process ?

(A) Shils
(B) Huntington
(C) Almond

(D) Halpren
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(A) it

(B) sHATEH X HHAS
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(D) ISThdE

12.

13.

14.
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15.

16.

17.

Which of the following pairs are not
correctly matched ?

List -1 List — I1
(Thinkers) (Concepts)
i. Easton — Regulatory
mechanisms
ii. Deutsch — Modernising
oligarchy
iii. Shils — Structural
differentiation
iv. Lucian Pye — Negative
Feedback

Select the correct answer from the
codes given below :

(A) ii and iii (B) iandii
(C) iiiiandiv (D) ii,iiiand iv

What is ‘Cultural Dualism” ?

(A) The existence of two religious
cultures.

(B) Newly emerging nations have
two languages.

(C) A small elite is modernized
while the vast majority remains
in rigid ascriptive patterns of
tradition.

(D) It is separation of the sacred
from the secular.

Identify the correct sequence of the
following  input  functions of
Almond’s Political System :

(1) Interest aggregation
(i1) Interest articulation

(iii) Political  socialisation  and
recruitment

(iv) Political communication

Select the correct answer from the
codes given below :

(A) (i), (iii), (i) and (iv)
(B) (iii), (ii), (i) and (iv)
(C) (iii), (i), (ii) and (iv)
(D) (i), (i), (iii) and (iv)

18.

19.

20.

21.
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The classical theory of administration
is also known as

(A) Locational theory

(B) Historical theory

(C) Mechanistic theory

(D) Human Relations theory

Pareto’s description of elites as
‘speculators’ and ‘rentiers’ resembles
the characterisation of governing
cliques of

(A) Plato
(C) Machiavelli

(B) Aristotle
(D) Marx

The difference between order and
disorder is more important than the
difference between communism and
liberal democracy is advocated by

(A) Lipset (B) Lijphart
(C) Dahl (D) Huntington

Which of the following statements
are not correct ?

I.  As per the provisions of the
Constitution, the Council of
Ministers is both collectively
and individually responsible to
the Lok Sabha.

II. A motion expressing lack of
confidence in an individual
minister is not admissible.

III. A no-confidence motion must
set out the grounds on which it
1s based.

IV. If a no-confidence motion is
passed by the Lok Sabha, the
Council of Ministers is bound
to resign.

Select the correct answer from the

codes given below :

(A) TandII (B) TandIII
(C©) LIlandlII (D) IIandIII
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18.

19.

20.

21.
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22,

23.

24,

25.

The Avadi Session of the Congress
(1956) accepted the policy of

(A) Cooperative Farming

(B) Import Substitution

(C) Garibi Hatao

(D) Socialistic pattern of society

What was the main findings of the

Union Government administrative

committee = headed by Home

Secretary N.N. Vohra in 1993 ?

(A) Electoral Reforms

(B) Minimum qualification for
politicians

(C) Nexus between politicians,
criminals and bureaucrats.

(D) Internal security priorities

Partha Chatterjee has commented
that the latest phase of the
globalization of capital will witness
an emerging opposition between

(A) Modernity and Democracy

(B) Feudalism and Democracy

(C) Inclusion and Democracy

(D) Elitism and Mass cultures

The President can make a

proclamation of Financial

Emergency under Art. 360

(A) for the whole of India or any
part of India

(B) for the whole of India except
Nagaland, Tripura, Manipur,
Meghalaya, = Mizoram and
Arunachal Pradesh

(C) for the whole of India except
Jammu and Kashmir

(D) for the whole of India except
Andaman and Nicobar Islands

26.

27.

28.
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Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).
Assertion (A) : The secular
ideology of the Indian State
appears to be paradox in view

of the deeply religious
orientation of the Indian
society.

Reason (R) : India’s secularism

was invented for integrating the
multicultural plurality of the
society into a common nation-
state as well as for containing
potentialities of the imperial
‘divide and rule’ and Muslim
Leagues’ ‘two-nation’ theory in
British India.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (R)is true but (A) is false.

Dharamsala model of Indian

capitalism was propounded by
(A) Dandekar and Rath

(B) Arjun Sengupta

(C) Raj Krishna

(D) Amartya Sen

The 1963 Kamraj Plan was initiated
by Nehru

(A) to revive
commitments

(B) to attract the youth to the party

(C) to plan and execute succession
procedure in the party

(D) to plan gender parity in the
party

Congress  party




22,

23.

24,

25.

UG H AEE IMAvH (1956) H
TFEg TaEtd =ifd = TR T T 2

(A) TEHRI FH
(B) 3T foehed
(C) TR gerstt
(D) THEST HT THSTERT g

e Gfed TA.A. diedl o STeAeTar et

IR AR D TS GHEfd (1993)

J o frRy T o 2

(A) T gER

(B) TSHIiTdR % oI =g=am Fivrn

(C) ST, STORIeT e Hehiemet
% S Gie-Tie

(D) AR G Haelt Mreiiehans

Al weS % oEd % AR ST
YA T ey e § fhe
e Ty S 3 2

(A) STYFSHAT qeT A
(B) WHIETE AT A
(C) THEAH a7 TAlshad
(D) SATTTETR T S-Sl

WY 360 F SAd LU T

AT ST HT Thel &

(A) THEUT 9RA A1 YRA & {hdr 99 &
faw |

(B) Armete, Frqw, wiorg, e,
i o envEer e W
BIgHT THOT YR % oI |

(C) ST 3R HPHR I DIEH TOT
aRd % T |

(D) 3R fER FU @ e &t
BIgHT THOT YR % oI |

26.

27.

28.
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T 3T geRTed ST T §, U R SR

(A) TT T I HROT (R) F&l T8 |

AfUFHYT (A) : 9RAE TES & A
e ST & gieshio 4,
TRAT [T & gf FRuerEar #t
foramramy faremrat udia g € |

%R (R) : YRAE @ES &
Ao TGl Tal ofaed &l T
TG TLIT T Tehihd
qA YRT § SRS G % SR
TUEER ‘e Tell 3R A
F T G o T
foramemT W siFw o % ferw
AR & FRUETT i TeT 77 |

E T

(A) (A) T (R) SHI @&l & @ (R),
(A) T TEl LT § |

(B) (A) T (R) 3Hi W & W (R),
(A) T TEl T T8 & |

(C) (A) W&, W (R) Tod & |

(D) (R) T &, W (A) T ¢ |

AR TSA1ATg o GHIIAT il i Jad-
Tore fopam 2

(A) TUSH qA I

(B) 3 I

(C) TSTFW

(D) 39 o=

T 1963 | &E = HERTST AT & T

o

(A) ®HF UE w UidEFeT w
STied U&H H & fT

(B) Ul % AT H MROA FXA F
ferw

(C) Ul § IAUfsR @i uikar &t
ST 3R IY A STHT TEA
% folg

(D) Ul fer-gumar o= & fow




29.

30.

Which of the following statements

about the  Central

Commissioner is not true ?

(A) The
Commissioner is appointed by
the President of India.

(B) The post of Central Vigilance
Commissioner is a statutory

Vigilance

Central Vigilance

post.

(C) He holds office for a term of
five years.

(D) He is empowered to exercise
superintendence  over  the
functioning of CBI.

Which of the following statements
are not true ?

(i) The Election Commission of
India has created a Special
Election Expenditure
Monitoring Division in the
Commission.

(ii)) The
parties are audited annually.

accounts of political

(i11) Paid news in connection with

elections 1is an electoral

offence.

(iv) Videography of the poll
proceedings inside the polling
stations is permissible.

Select the correct answer from the
codes given below :

Codes :

(A) (i), (iii) and (iv)
(B) (i1), (iii) and (iv)
(C) (i) and (iii)

(D) (i1) and (iii)

31.

32.

33.
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Assertion (A) : The arguments of
C. Wright Mill’s power elites
are based on the classical elitist
framework.

Reason (R) : Elitist formulation
is not possible without
reference to classical elitism.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A)is false but (R) is true.

The theory of “Prismatic Society” is

based on

(A) Historical studies of public
administration in  different
societies.

(B) Study of public services in

developed and developing
countries

(C) Institutional comparison of
public administration in

developed countries.

(D) Structural-functional analysis
of public administration in
developing countries.

Job loading means

(A) Deliberate
responsibility,
challenges.

upgrading of
scope  and

(B) Shifting of an employee from
one job to another.

(C) Making the job  more
interesting.

(D) All of the above
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frfafad oAt & @ I W P

?%awéma@w%aﬁﬁaﬁﬂﬁ

0

(A) FEE T A & TR H
faf 9Rd & Tguld gRT @t
ST & |

(B) S TARAT AT & IR H
U Hifates 9 & |

(C) 3T TRTEM &H N HEFHCT 9
T BT EIAT & |

(D) 3§ @ & 3ME F FHEFNAT A
3T ST T SAIHR BT & |

feTefEad & | i § FUF T8t T8l § 2

() 9Rd & FeTe = A ST &
i uw foew Fetem =
TIEETOT T 7 e T € |

(i) VeHIfaE A % feaEmr w5
TGT-LIETT Uiay Tohat ST € |

(i) Fafem @ dafyq g w=Weh
THER 3 U FerasE Ty
T

(iv) e LI & X =t W@l gase
T AR i fafeammht H H
3TATT Bt € |

T 3T Fe ° ¥ TEl ST BT TI DT

FIS:

(A) (i), (iii) T (iv)

(B) (i), (iii) T (iv)

(C) (1) (iih)

(D) (i) T (iii)
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FHEAT WET ARSI & T
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(A) (A) &R (R) SHl Wl & a9 (R),
(A) T TEl LT § |

(B) (A) &R (R) 3HI Wl & W (R),
(A) T TEl TIEHIT T8 & |

(C) (A) T, W (R) Tod ¢ |
(D) (A)Toid &, W= (R) Tl ¢ |

“fys guer @ fagia Hefatad 5 9
fore T TR & 2

(A) faf= TosT § ofish wemed &
ufereTiaey e

(B) Topfad 3T foreprasiier <1 | olish
Harew T TIaT

(C) fopfad <o # e wemad ot
T JorT

(D) foeraieT 390 O @ TRTET

ST -TehdTcHeh forgeiyor

e AT ol 37 &
(A) STREIGeE, HEEH TAT JATTAT Bl

(B) ot HHARI T Th 1 & B
TH HE W AT

(C) T = o St aE
(D) gt Tt
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34.

3s.

36.

37.

38.

Negative motivation is based on
(A) Anxiety

(B) Threat
(C) Money
(D) Fear

Simon was positively influenced by
the ideas of

(A) L.D. White
(B) Terry

(C) Barnard

(D) Henry Fayol

Assertion (A) : Classical theory of
organisation is based on formal
principles.

Reason (R) : Classicists
behavioural analysis.

(A) (A) and (R) are true and (R) is
the correct explanation of (A).

(B) (A) and (R) are true but (R) is
not the correct explanation of
(A).

(C) (A)is true but (R) is false.

(D) (R)is true but (A) is false.

lacked

What is the methodology proposed
by Herbert Simon ?

(A) Bounded Rationality
(B) Logical Positivism
(C) Decision making
(D) Satistying

Who among the following thinkers
rejected the principles of
administration as myths and proverbs ?

(A) Herbert Simon
(B) W.F. Willoughby
(C) L.D. White

(D) Chester Bernard

39.

40.

41.

42,

43.
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of the
indifference” is associated with

(A) Power

(B) Decision making
(C) Authority

(D) Leadership

The concept “zone of

Name the scholar who analysed
leadership as “circular response”.

(A) Taylor
(B) Millet
(C) M.P. Follett
(D) C.I. Barnard

Non-state dimension of warfare is
also called

(A) Westphalian warfare
(B) Post-westphalian warfare
(C) New war

(D) Pre-westphalian warfare

Tehran Declaration of 1 December
1943 drew a plan for

(A) Trusteeship

(B) New-membership
(C) Peace-keeping

(D) Conflict resolution

Who coined the term “Functionalist
theory of Integration” ?

(A) David Mittarany
(B) Ernst Haas

(C) Joseph Nye

(D) Andrew Linklater
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38.

oo

THRHF AR Fferad § 4 g
T ST el & 2

(A) e

(B) @I

(C) Tua-uT

(D) w3

fafefeg & 9 foas foamt 9 faam
HHRTHE &Y F T o 2

(A) TeAE =R

(B)

(C) =€

(D) TR HAA

AT (A) : T H WEE
foga  ofueie fOgar W

i & |

HRIT (R) : e fagiaere |
RIS [IYeITUT Sl 3T o7 |

(A) (A) @ (R) W & &R (R), (A)
o &l TR T |

(B) (A) @M (R) Wl € W (R), (A)
1 TE TR0 8l & |

(C) (A)TE T, W< (R) T € |

(D) (R) W&, R (A) T € |

gaIe U § uEATad wiarg &
T2

(A) TUREiEa faaseiemar

(B) R Tcetas

(C) ==

(D) wfeeo

et & 9 fq foare 3 fust
AR ABIfeRdl & T H WG &
fagial =t R fomar 2

(A) T fEAA

(B) T=1.U. ot

(C) TAS. =B

(D) X TE
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(A) R

(B) For

(C) @

(D) e

Fefafed § 9 5 fogam 3 g =t
“Hepor e o €9 ¥ faveifud o 2
(A) TR
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(A) ALHT IF
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(A) zeife
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(C) if | AT
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44.

45.

46.

47.

The CEPA (Comprehensive
Economic Partnership Agreement)
was officially endorsed in October
2010 between

(A) India and Japan

(B) India and China

(C) India and Russia

(D) India and South Korea

What is the correct sequence of
Morton Kaplan’s models of systems
analysis ?

(i) Balance of Power

(1)) Loose Bipolarity

(iii) Tight Bipolarity

(iv) Universal International System
Codes :

(A) (v (i) (i1) (1)

(B) (i) (iv) (i1) (i)

(C) () (i) (i) (1)

D) () (i) (iii) (iv)

Who wrote the book “Stable Peace” ?
(A) Johan Galtung

(B) Gunnar Myrdal

(C) Kenneth Boulding

(D) Peter Wallerstein

Security Council Resolution No.
1441 of Nov 2002 deals with

(A) U.N. involvement in Somalia.

(B) Enforced the no fly zone in
Bosnia

(C) Sanctioned intervention at the
end of the Gulf War to protect
the Kurds in Northern Iraq.

(D) Resolution on Iraq, which
threatned serious
consequences, if  Saddam
Hussain failed to reveal his
weapons of mass destruction to

team of U.N. Inspectors.

48.

49.

50.

Who enunciated International society
theory as a combination of three
schools of thought — Realism,
Rationalism and Revolutionism ?

(A) Martin Wight

(B) Kenneth Waltz

(C) Hedley Bull

(D) Raymond Aron

Assertion (A) : The decisions of the
security council are binding,
and must only be passed by the
majority of nine out of the 15
members, as well as each of the
five permanent members.

Reason (R) : These five
permanent members have veto
power over all Security
Council decisions.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Which of the following are part of

Morganthau’s realist principles ?

(i) Politics is rooted in a
permanent and unchanging
human nature.

(i)  Self-interest is a basic fact of
the human condition.

(i11) Coercion is only part of foreign
policy.

(iv) National interest defined in
terms of power.

Codes :

(A) All are correct.

(B) (i), (i1) and (iv) are correct.

(C) (1), (111) and (i1) are correct.

(D) (i), (iii) and (iv) are correct.
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T O T (HUETa SR qeR e
whte) % Fefatad 9 @ 57 51 39 &
= I HSE ey 2010 H Ol
LER

(A) YR T STAH

(B) YRa den 9=

(C) oRA T &F

(D) 9RA qAT T HIE

T TaveAT0T o Ao HA & Aiged
T TE IR FTE 2

(i) e 1 For

(i) relt fegeiera

(ili) R fgydaar

(iv) e TR sFeweT
CAER

(A)  (iv) (iii) (i) ()

(B) (i) (iv) (iD) ()

(C)  (iv) (i) (i) ()

(D) () (i) (iii) (iv)

“EA W ATHF JEIF o @ I A

ERIEL

(A) STEM T

(B) TR fHee

(C) &y ar=fesT

(D) X aeREH

LRI UREE, o WA & 1441 (TR,

2002) T Gaiy fHad ¢ 2

(A) QT § J.UA. Sl Gieredar

(B) difFar ¥ 3IgM MRy & ]
HET |

(C) S W H PRI B T W_H
T % (o0 WTET 5 ! oI )
TEIEIT HT ST

(D) ¥ W W, NEH TE Fer T
a1 fF Al geEm g 4,
RIeT T B AU SH-TERE
FERT 1 SR A@ S df TR
RO T & |

48.

49.

50.

qO HifdaE - & TASH F TT H
T T fagid & ved fheH
T 2

(A) e arge

(B) e Aot

(C) el qt

(D) UE WA

AfuHAT (A) : GRT UReg % U
ATHR B &, qAT I (ST F A
TS % SgAd X A & U
A 9= 7 9 UE® % 5N
TRE AT & TS E |

HRT (R) $ T U™ W asE
H TR IRES & FHed i &
T SAe-TTe B & |

S :

(A) (A) T (R) THT Gl & a1 (R),
(A) T T& LT T |

(B) (A) @ (R) 3 Wl & W (R),
(A) T TE TEHT el ¢ |

(C) (A) T T, W< (R) T ¢ |

(D) (A)Toid &, =] (R) Tl ¢ |

e & @ SH-wF ¥ fagia qry

R Uiquied Fengersl fagiar & 3idid

3 & 2

() T AR uRad-E AHE-UH
! ot T AT e et € |

(i) TFE-3aa ¥ @fed emared
TaE |

(iii) ?mwwqﬁﬁwm

|

(iv) T fed ot wfed & w0 OH
aRefee e ST § |

CAER

(A) THEE |

B) (i), (i) 7@ (iv) T |

(C) (i), (iii) @ (i) T & |

(D) (i), (iii) &1 (iv) T T |
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